Algebra 1 - Final Exam Review					Name_____________________________
Part 1 – Unit 0							Date _____________      Hour_________
**This is part of your exam grade!!**

I can solve equations. Solve and check each equation.

1.  -(x  +  5)  =  3x  +  2(x  -  4)				2.    -3x  -  6x  +  x  -  7  =  -15x



3.  -2x – (8 – 4x) = -18 + 2x  				4.   75 = 3 (-6x – 5 )


5.  Describe the steps in both math and writing for solving the following problem: 
        3x – (2 + 5x) = 12
Written
Math

							 
			__________________________________________________________________________________________________________________________________________________________________________________________________________________






I can solve consecutive integer word problems.  Write an equation that models each situation and find the value of the integers.  

6.  The sum of three consecutive integers is 102.  Find the integers.


7.  The sum of three consecutive even integers is 612.  Find the integers. 


I can solve perimeter word problems.

8.  The length of a rectangle is 7 cm more than twice its width.  The perimeter of the 
     rectangle is 32 cm.  What are the dimensions of the rectangle?


9.  The length of the rectangle is 6 in. more than its width. The perimeter of the rectangle is 
     44 in. What are the dimensions of the rectangle?

Algebra 1								Name_____________________________
Final Exam Review – Unit 1 - Functions

I can evaluate a function.  

10.  If f(x)  =  -2x + 2  then find f(-2).		11.  If g(x) = -x2 +  5x, then find g(-12).

12.  If f(x) = -4x + 7 then find f(3).		 I3.   f(x) = -x + 4, then find f(-3).

14.  A company makes cell phones where f(x) = 32x + 40 represents the cost to make the  
       phones and x represents the number of cell phones made.  Which statement is correct?

a.  It costs $8 to make two cell phones.		c.  It costs $320 to make 10 cell phones.

b.  It costs $200 to make five cell phones.		d.  It costs $72 to make two cell phones.

			
I can determine if an ordered pair is a solution.
	Is this ordered pair a solution to the function?
	f(x)  =  -  x  -  6
	Yes or No?



	15.  (-2, -5)
	

	

	16.  (0, -6)
	

	

	17.  (5, 19)	
	

	



	Is this ordered pair a solution to the function?
	f(x)  =  3x  +  4
	Yes or No?



	18.  (0, 6)
	

	

	19.  (6, -9)	
	

	

	20.  (10, 34)
	

	



	21.  Which of the following is a solution to the function f(x) = -2x +1 ?  Circle all that apply

a.  (4,0)           b.  (3,7)                 c.  (0,1)                  d.  (8, -15)


**This is part of your exam grade!!**

I can determine if a relation is a function or not.
I can find domain and range.
	22.
[image: ]

	23.  Determine the domain and range.
              [image: ] 
Domain:
Range:

Is this relation a function? Explain your reasoning.

	[image: ]24.  Determine the domain and range.











Domain:
Range:

Is this relation a function? Explain your reasoning.


	25.  Determine the domain and range.

	Number of Identical
Notebooks
	Regular Cost of Notebooks (No Discounts)

	7
	5.53

	2
	1.58

	5
	3.95

	3
	2.37










Domain:
Range:

Is this relation a function? Explain your reasoning.
	26.  Determine the domain and range.
{ (-3, -6), (-1, -6),(-3, 2), (5, -6), (8, -6) }


Domain:
Range:

Is this relation a function? Explain your reasoning.





Algebra 1 - Final Exam Review					Name_____________________________
Part 2 – Unit 2 - Linear Equations				Date _____________      Hour_________
**This is part of your exam grade!!** 
I can find the slope.

27.  For each function below, list 5 solutions (points).  Then find the slope.
[image: ]                                           [image: Image result for graphs of linear equations]         
5 solutions ___________________________			5 solutions ___________________________

Slope: _________						Slope: _________	

28.  Two linear functions are described below.  Based on the information, which of the following statements is true?

		Function 1 has the equation y = -3x + 5
                             Function 2 is a line passing through the points (0, 5) and (5, -10)

a)  Function 1 and 2 have the same slope.			b)  Function 1 and 2 have the same x-intercept.

c)  Function 1 and 2 have the same y-intercept.			d)  Function 1 and 2 represent the same lines.


 29.   Determine the rate of change and explain what it means. 
            [image: ]

30.  Which table represents a linear function with the same slope as y = -4x + 5 ? [image: ]
[image: ]

31.  Calculate the slope and explain what it means.
a. 3 ; every time a marble is put in the jar, it adds 3 grams.
b. 1/3; every time 3 marbles are put in the jar, it adds 1 gram
c.  3/2; every time 3 marbles are put in the jar, it adds 2 grams.
d.  2/3; every time 2 marbles are put in the jar, it adds 3 grams.




32.
[image: ]



I can graph standard form. Determine the x and y intercepts then graph.

33.  5x  +  6y  =  -30						 34.  14x  +  7y  =  -28
[image: ]					[image: ]
Algebra 1 - Final Exam Review					Name_____________________________
Part 3 – Unit 3 - Systems of Linear Equations			Date _____________      Hour_________
**This is part of your exam grade!!**

I can solve systems of equations.  Solve and check each system of equations.  Use graphing, substitution or elimination.

35.  4x  -  2y  =  6							36.  3x  +  2y  =  -2
       2x  +  y  =  5    							       `y  = -2x + 6



37.  2x  +  3y  =  -2							38.  y  =  3x  -  4
       6x  +  9y  =  -6						                  y  =  -2x  +  6



39.  3x  +  y  =  1							40.  3x  -  4y  =  10
       3x  +  y  =  6							       2x  +  y  =  3

					
								

I can solve system word problems. Write and solve a system of equations for each word problem.

41.  The school that Stefan goes to is selling tickets to a choral performance. On the first day 
       of ticket sales the school sold 4 senior citizen tickets and 3 child tickets for a total of $83. 
       The school took in $124 on the second day by selling 5 senior citizen tickets and 6 child 
       tickets. Find the price of a senior citizen ticket and the price of a child ticket.







42.  Several students decide to start a t-shirt company.  After initial expenses for $280, they 
       purchase each t-shirt wholesale for $3.99.  They sell each shirt for $10.99.  How many must  
       they sell to break even?

I can solve inequalities.  Solve and graph each inequality.

43.  5x  +  2  <  2x  -  4						44.  -4   >   2(-x  -  8)


[image: ][image: ]



44.  9n  -  8  ≤  12n  +  4						45.  -3( -x  -  9)  >   3


[image: ][image: ] 




























Algebra 1 - Final Exam Review					Name_____________________________
Part 4 – Unit 4 - Scatter Plots/Correlation			Date _____________      Hour_________
**This is part of your exam grade!!**

I can determine positive, negative or no correlation correlation.  State whether each situation shows a positive, negative or no correlation.

46.  a)  temperature in degrees and the amount of ice cream sold
       b)  the number of minutes a person spends on video games and the score on his/her 
             math test
       c)  the score of your math test and your shoe size

I can find the correlation coefficient and explain what it means.
47.  Describe each correlation coefficient as positive, strong positive, negative, strong 
       negative, or no correlation.

a)  r=.25 				b)  r=.90 			c)  r=-.8 			d)  r=-.4


I can use the line of best fit to determine future values.

[image: ]48.  a) Based on the line of best fit, predict the daily sales if the temperature was 64 degrees.
       b) Based on the line of best fit, predict the temperature if the daily sales was $300.






49.  Use the table below.
[image: ]
a)  Find the equation for the line of best fit.  (Linear Regression)

b)  What is the correlation coefficient and what does this mean about the data?

c)  Using the equation, predict the stopping distance at 60 miles per hour.  (Plug in 60 for x).




[bookmark: _GoBack]
50.  Use the table below.

[image: ]
a)  Find the equation for the line of best fit.  (Linear Regression)


b)  What is the correlation coefficient and what does this mean about the data?
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